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QUESTION 1

With Layer 3 MPLS VPN implementations on Cisco I0S XR PE routers, an interface is assigned to a VRF using the vrf
command in which configuration mode?

A. RP/0O/RPO/CPUO:PE(config-bgp)#
B. RP/0/RPO/CPUOQ:PE(config-if)#

C. RP/0/RP0O/CPUO:PE(config-bgp-af)#
D. RP/0O/RPO/CPUO:PE(config-vrf)#
Correct Answer: B

Reference: https://www.cisco.com/c/en/us/td/docs/ios_xr_swi/iosxr_r3-7/mpls/configuration/guide/gc37v3.html

QUESTION 2

Which tool identifies the point of failure in a P2MP LSP from the ingress LSR?
A. Jitter TLV

B. SPAN

C. P2MP traceroute

D. P2MP ping

Correct Answer: C

Reference: https://www.cisco.com/c/en/us/td/docs/routers/asr9000/software/asrok_r5-3/mpls/configuration/guide/b-mpls-
cg53x-asrok/b-mpls-cg53x-asrok_chapter_01000.html

QUESTION 3

ip vrf mvpn-intranet
rd 12:1
vpnid 12:1
route-target import 12:2
route-target export 12:1
mdt default mpls midp 192.168.1.2
exit

ip multicast-routing vrf mvpn-intranet

Refer to the exhibit. Which statement about this configuration is true?
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A. Router 1 will accept multicast routes with a route-target of 12:1.

B. 192.168.1.2 must be reachable by all routers participating in the mvpn-intranet MVRF.

C. Router 1 has statically defined thresholds for data MDT.

D. The MVRF must be configured on each router on the customer and service provider networks.

Correct Answer: A

QUESTION 4

Which two frames can be configured on an Ethernet flow point? (Choose two.)
A. of a specific VLAN

B. with different type of service values

C. with identical type of service value

D. with different class of service values

E. with no tags

Correct Answer: AE

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/cether/configuration/xe-3s/asr903/16-5-1/b-ce-
xe-16-5-asr900/trunk-efp-support.html

QUESTION 5
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interface Loopback0
ip address 1.1.1.1 255.255.255.255
ip ospf1areal
!
interface GigabitEthernet0/1/0
ip address 10.0.2.1 255.255.255.252
1
service instance 101 ethernet
encapsulation dotiqg 101
rewrite ingress tag pop 1 symmetric

12vpn evpn instance 100 point-to-point
!
vpws context ve100
service target 2 source 1
member GigabitEthernet0/1/0 service-instance 101
!
interface GigabitEthernet0/1/1
ip address 10.0.1.1 255.255.255.0
ip ospf1areal
mpls ip
|

router bgp 65500
bgp router-id 1.1.1.1
neighbor 2.2.2.2 remote-as 65501
neighbor 2.2.2.2 update-source Loopback0
!
address-family ipv4
neighbor 2.2.2.2 activate
exit-address-family
!
address-family 12vpn evpn
neighbor 2.2.2.2 activate
exit-address-family
!
12vpn evpn instance 100 point-to-point
!
vpws context ve100
service target 2 source 1

member GigabitEthernet0/0/0
!
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Refer to the exhibit. An engineer is trying to configure an EVPN VWPS. What is the issue with this configuration?
A. The member in the VPWS context should be the PE-facing interface.

B. The 12vpn evpn command should be instance 101.

C. Interface GigabitEthernet0/1/0 should not have any IP address.

D. The service instance and the EVPN instance are different.

Correct Answer: C

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_l2_vpns/configuration/xe-3s/asr903/16-7-1/b-mpls-
[2-vpns-xe-16-7-asr900/epvn_vpws_single_homed.pdf
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